DEPARTMENT OF MATHEMATICS AND STATISTICS

Differential Calculus
Test 2

Instructions :
e This test has 7 questions and a total of 6 pages. You have 80 minutes.

Read carefully and answer all questions. Show all the work.

e Only non-graphing and non-programmable calculators are permitted. No cell phones
or any other electronic devices are allowed.

e Work all problems in the space provided.

Do not detach any pages.




equatlon has a real root in the interval (0,1).
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(6) Find the afﬁtﬂnie lzaxlmum and absolute minimum values of 51‘/ 5_4z,0on the IB
interval [-1,2].
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7. Indicate whether each statement is True or False.

(a) (@/ F') If f is differentiable at z = a, then f is continuous at r = a.

(b) (T /@ If 1 is differentiable at z = a, then |f| is also differentiable at z = a.

(c) (@ FJNI f'(c) = 0, then f has a local maximum or a local minimum at ¢, ="'
(d) (:[ )/ ) If f and g are continuous at z = a then fg is continuous at r = a. F
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(f) (T F Every rational function is continuous on its domain. - domgin 5
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